GASGAS

EC 350F 2022 <2022><EU><F0303V9>

ACCESSORY PACK
57283
OHNE ABBILDUNG
WITHOUT ILLUSTRATION
l
TECHNISCHE DOKUMENTATION o
TECHNICAL DOCUMENTATION
DOCUMENTATCION TECNICA
DOCUMENTATION TECHNIQUE
NOTE TECNICHE
Pos Part Number Description Additional Text Quantity
0 00063004134 BLINKERKARTON 270X100X80 1.00
0 00063099100 BUTTON CLASP BAG F.SMALL PARTS 2.00
0 0017060205 SCREW FOR PLASTIC K60X20 SW6 2.00
0 79603040133 Footrest-Set 1.00
0 58411098100 CONTACT WASHER M6 VSV-K6 2.00
0 0025050126 HH collar screw M5x12 TX30 2.00
0 2510309410030 Frame protection set 1.00
0 0081050121 EJOT PT screw K50x12 only for US and SixDays 2.00
0 58412080400 Rear reflector red 1.00
0 0019080206S FLAT HEAD SCREW M. ISA45 M8X20 1.00
0 77405009065 Plug screw M12X1.25 WS17 1.00
0 58012040000 Rear view mirror left 1.00
0 58012140000 Rear view mirror right 1.00
0 A54002044000 Clamp, mirror cmpl. 1.00
0 77229072200 Spark plug wrench 1.00
0 00063004202 PRINT LABEL 60X51 MM 1.00
0 58412080300 REFLECTOR YELLOW "CEV" ONLY USA & AUS 2.00
0 0084040223 CYL.HEAD SCREW DIN0084-M 4X22A 2.00
0 0125100003 washer DIN 125 A 10.5 ONLY FOR 640 DUKE 4.00
0 0025060086S Hex collar scr., M6x8, ISA 30, 1.00
0 0081050181 SCREW FOR PLASTIC K50X18 T20 300 TPI Erzbergrodeo 1.00
0 0603061001 CU-SEAL RING DIN7603-6X10X1 1.00
0 0797100003 LOCK WASHER DIN6797-J10,5 ZI 4.00
0 0934040003 HEXAGON NUT DIN0934-M 4 2.00
0 13011070060 ADAPTER FOR FLASHER SWITCH '98 1.00
0 49111425200 BULB 12V 2,3W (W2X4,6D) 2.00
0 50311029000 FLASHER SWITCH CEV '98 1.00
0 54814025200 FLASHER CPL. FR.L/S RE.R/S 09 2.00
0 54814026200 FLASHER CPL. FR.R/S RE.L/S 09 2.00
0 79233029013 Sprocket 13-t 1.00
0 A54002002044 Handlebar pad cmpl. 1.00




0 00063004012 HEADLIGHT MASK BOX 1.00
0 79002014100 CAM 4-T 39,5 MM 1.00
0 58011024300 FLASHER INDICAT.LIGHT GREEN'98 EXC EU+AUS 1.00
0 58414030000 HH COLLAR NUT M10X1,25 WS=13 MINI ADV. 4.00
0 60314047000 license plate lighting 1.00
0 72111080000 Flasher harness front 1.00
0 76511030000 FLASHER UNIT 1.00
0 79615020010 Locking cap evaporative canist 3.00
0 79711081000 flasher harness rear 1.00
0 A54008016000 License plate holder extension 1.00
0 A54008185011 Displacement label left + righ 1.00
0 000700000ANO1 Dummy plug 4-pins 1.00
0 000700000LV001 Dummy plug LV 2p/sealed 1.00
0 52000238SET Sticker set Xplor OC 238x182.5 1.00
0 78141013190 FUEL FILTER 3.00
1 3215058EN Owner Manual GASGAS EC 350F 2 1.00
29 A54029099000 Tool set 1.00




